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SET — 4
RIS .
Series : GBM/C Code No. 306
. Tlieefl Sl I ITH-GETHI o TE-TS
e . .
W 379 o |
Roll No. Candidates must write the Code on
the title page of the answer-book.

o FUITITHR A HIA-HIYFATS 8% |

o  TH-TA 1 gife 811 3l 3R T T h1E TR ohi B I -JETeh! o TE-T8 W o |
o FHUI G FA 6 30 TA-TA H 26 T ¢ |

® YA T 1 I (TG TE HH § T8, T 1 FHATh S (o1 |

® TH YT-TA I Ued o fo1T 15 fire o1 ww fezrm w2 | - <1 forawor qate ® 10.15 991
ToRaT SITQT | 10.15 91 & 10.30 W1 7 BT hadl SR-T3 i Tl 3TN 38 37019 6 GRH
ITR-YfETehT T HIE I T8l fora |

e Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

ERIC
TAXATION

fREia aae - 3 g2 BT 37H 60

Time allowed : 3 hours Maximum Marks : 60

2-771772773?3?7:
() g7 IATEE |
(ii) HeIF J97 & 3eb 3G GIH 3HT 5 |
(iii) F97 GEIT 1 @9 7% 3717 TG I I97 & 797 Yedoh G971 3% F1 8 |
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(iv) Fo7 G&IT10 @17 7% TIETH 3 & J97 & a7 % 97 2 37 1 3 | G~ &9 & 08
TS J97 7T I 50 VsG] @ 378 &7 787 5147 T30 |
(v) I GET18 822 7% 3 Fo7 W} TG I & & aoT eI J97 3 37 BT & | T &Y

& 07 U J97 1 IR 70 151 G 3719 F7 781 511 05T |

(vi) ¥ GEIT23 T 26 TF F 9 G I & & 9T b JI7 5 3% BT 8 | G~ &9 G 04
T 57 BT I 150 Vgl & 37ere 7 757 51 <3 |

(vii) IR TI&a o7 gar T =13 /|

General Instructions :

(i)  All questions are compulsory.

(ii) Marks for questions are indicated against each question.

(iii) Question nos. 1 to 9 are very short answer questions carrying 1 mark each.

(iv) Question nos. 10 to 17 are short answer questions carrying 2 marks each. Answer
to them should not normally exceed 50 words each.

(v)  Question nos. 18 to 22 are also short answer questions carrying 3 marks each.
Answer to them should not normally exceed 70 words each.

(vi)  Question nos. 23 to 26 are long answer questions carrying § marks each. Answer to
them should not normally exceed 150 words each.

(vii) Answer should be brief and to the point.

1. TR s=d g T VI 31ee 1X @ 9R7 80 H 3 3T=did shald! ITH i a1et bl a1
. Tt o1 Seorg Hifs | 1

State any two assessees who are allowed deduction u/s 80 C for National Saving
Certificates VIII issue or IX issue.

2. h¥ TIHR Y IISHT H I3 § 910 80 H HY €l o 3A=Id sheldl oh foTd bl TRl
27 1

Who is entitled to deduction in respect of contribution to pension scheme of Central
Govt. u/s 80 CCD ?

3. e fotarg s A9 o foTw weh =afth g ra <t 718 Ui oX e 80 o6 1= e
I TATY T Ioeh@ HIT | 1

State the period of holding under unit linked insurance plan for deduction u/s 80 C for
the amount paid by an individual.

4. YT 194 ot o A=A Aled] qAT Shigae Usol 3T O SHd I HId T L shald] <l ferd wral
1 I Temarn ST =t ? 1

What condition should be satisfied to deduct tax at source from winnings from
lotteries or crosswords puzzles etc. u/s 194 B ?
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31fm K T Y <ar fermehl B 7

Who is liable to pay advance tax ?

2 o TG a1 ST aTelt bl & awg3Ti o 3ETaTl Gig |

State any two examples of goods outside VAT.

i forshl S o foTe o & s gran g 2

What is ‘Form C’ in Central Sales Tax ?

A2 AT T hl TSR 6 gl al (ehrg3! T IeoT HIT |

State any two points giving the need of introducing VAT.

a1 § “foqfia uftad srRivomed” s @w=m 37 g ?

What is meant by ‘Reverse Change Mechanism’ in Service Tax ?

g 80 €t 21 &t % ST fafohean = W Held] 1 G i oh 10 g hl ST areft ot
%1 o1 1T |

State the conditions which must be satisfied the claim deduction in respect of medical
treatment u/s 80 DDB.

forcfiar a9 2015-16 o fotw 80 o @ 31f¥res 31 o 3Afd ITCE ATIERT ht KT AT hl TUMET
T o fIU 3Tt 1 TSl 1 Ieoi@ HIfT |

State the income tax slabs for financial year 2015-16 for very senior citizens aged 80
years and above on the basis of which their tax liability is computed.

IR AT, 1961 o TG o FTTHR Th SAh bl hL AT 3T hl TUMET i b
o “=afer @ <ot A 3T wel ot 319 i |
For calculation of taxable income of an individual according to the provisions of

Income Tax Act 1961, give the meaning of the terms ‘Individual’ and ‘Taxable
Income’.

T B e Afeeprt s et i 31fm X Jam o fow g wehar & steren faffcd
BRI 319 3719 =1e] Y <l 319t 3T BT STTHM ST b 9T L 3T 319 3719 YA ST
g2 ? ST |

Can the assessing officer ask the assessee to pay advance tax or the tax payer has to
pay advance tax at his own after estimating his own current year income ? Explain.
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17.
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‘FTR-T=T’ qAT “37q: T Torshl o1 =7 312 8 7 39 TohR hi fershl o7 Sooig shifore fore
T h 1 forshl ot 27 B & a2 98 ft Seoi@ hifSe for T8 el @ BT 2 |

What is meant by ‘Interstate’ and ‘Intrastate’ sales ? State the type of sale in which
CST is payable and also the state where the CST is payable.

A § SATTTd JETarsti adT e 92 a1 L T &g I hl ST aTeft 3l o1 Ieord
HITSTT |

State any two conditions that should be fulfilled in order to charge service tax from
individual provider as well as companies in India.

[T o o =i “Feamor ST IRt g ?

What is meant by ‘Abatement’ in Service Tax ?

TET L P AT USRI % oAU 3713 6 frahl Rrderd a1t & 7 39 w1 1 3oo@
sHifoTe o8 gsfientor & fore ST o6en gian 2 a2 et fSe 38 e HET e g |

Who is liable to apply for registration under Service Tax ? State the form, which he
has to submit for registration and the period within which he has to apply for
registration.

e a9 2015-16 % forw v 3 310+t 31 6 fore feraror s fo

(i) @A™ % 3,60,000
(i)  <rerhTena defira @y % 1,20,000
(iii) Tertram T fopam % 2,500 Sfd A

Y T 35 "o wfas ffy # 35,000 1 SpTaE fRam @@ % 12,000 TEmEET
TR TEd IS 8 S feRT |
freitor a 2016-17  foTu IHehT KT A 3771 <6t UM HIfTT |

X submits the following particulars of his income for the previous year 2015-16 :

(i) Income from salary < 3,60,000
(i1)) Long term capital gain % 1,20,000
(ii1)) Rent received 32,500 p.m.

During the year, he paid I 5,000 in public provident fund and ¥ 12,000 to Prime
Minister National Relief Fund.

Calculate his taxable income for the assessment year 2016-17.
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19. 9& a9 2015-16 o foTT Teprer 3 7ot 3171 o Fet feraror s e 3
(i) =TeE™a Y % 2,60,000
(i) Wed S TGS A 12,000
(iii) Teh WA Hro | gr e T 1,600
(iv) Teh ®H | STHT 9T ITH ST % 27,000 T8 R Ed W B Herdt 10% o |
3T 1-4-2015 &1 T 50,000 & T a=a 7= (Frta VIII) 1 s fopam e Sfiam s
fiftrm o T 7 5,000 1 T R |

Frerieor a 2016-17 % T 3T FoT bt 3T 1 TUMT HIFT |

Prakash has given the following particulars of his income for the previous year

2015-16:
(1)  Profits of business T 2,60,000
(i1)) Capital gain on sale of a building 312,000

(i11)) Dividend received from an Indian company I 1,600

(iv) Interest received on deposit in a firm I 27,000 from which tax deducted at
source was 10%.

He purchased National Saving Certificate (VIII issue) of I 50,000 on 1-4-2015 and
paid X 5,000 for Life Insurance Premium.

Calculate his gross total income for the assessment year 2016-17.

20. UH fordl d feafaat o1 oot Hifsre S8 a1 194 € 3A=ria |id W T sheldl sl
IS ETIHAT T8l ardl | 3

State any three circumstances under which there is no requirement of deduction of tax
at source u/s 194 A.

21. T foeron @ 32 affa wem g e 2016-17 & forw gram fohe S 9ot 31fim e

iy <Y 7o ShifeTe 3
() AT AR 3T T 4,34,000
(i)  RUTIET R AT %9,000 (| 9 Z 1,000 X Hld! o 9T

(iii) o9 9 TP a=d o= § fFa % 80,000
(iv) @ vesg Al afew 220,000

For the year 2016-17 compute the amount of advance tax to be paid by Raja, age 32
years from the following details :

(i) Taxable business income 3 4,34,000
(i) Interest on debentures % 9,000 (after TDS X 1,000)
(ii1) Investment in NSC during the year I 80,000
(iv) Investment in PPF 320,000
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22. TETHLHT R AL 2 7 TaT L hl fohegil ot foriwarati o1 Seor@ i | 3
What is meant by Service Tax ? State any two features of Service Tax.
23. fagforad 2016-17 & fow “wea” i 3 0 fre wfdfera o - 5
(i) TSR A Z 5,50,000
(i) TR YSTd TREFITa & Feaf-ad gira @ % 13,000
(iil) YR SHEAfR & 9T AT % 9,000 (FeheT)
(iv) el afa (Twa) % 1,00,000
Tt Y v g fopt 1 A e 9
(i) < g UER FL&a iy 4 gH 3 15,000
(i) W Sfteq o Frm S (Red s = ®wWIR) T 12,000
femfor g =t i fepwa
(iii) @r=rar yre wirsy iy o Jeem Z 50,000
(iv) 1-4-2012 % 999Tq 3194 SR I & % 2,00,000 < S8 i Sfam sfimr giferet w
Hfiftrm 2 25,000
(v) TEHHHT 3R Tad ¥ H g 3 10,000

g 80 H) o 3A=rid T k! Sited AT qen wiesy fafr snfe @ S arefl wifaat H
i3 b mmor HifST qen g 80 S o6 r=aid faftre eFl W & S ATl welfaat K ufs

1 M1 HIT |

For the Assessment Year 2016-17, X’s income consisted of the following :
(1)  Business profits % 5,50,000

(i1) Capital gains in respect of short-term capital assets I 13,000

(ii1)) Dividends from Indian companies % 9,000 (gross)
(iv) Winning from lottery (gross) < 1,00,000

Payments made by X during the previous year were as follows :

(i) Donations to National Defence Fund by cheque T 15,000

(i) Instalment of house construction loan from LIC of India (which is self-occupied)
T 12,000

(ii1)) Contribution to recognized P.F. ¥ 50,000

(iv) Premium on the life policy of his major son taken after 1-4-2012 amounted to
% 25,000, sum assured T 2,00,000

(v) Donations to Prime Minister’s Drought Relief Fund I 10,000

Calculate the amount of deductions allowed to X u/s 80 C for LIC, PF etc. and u/s 80
G for various donations.
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24.

25.
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fFufora¥ 2016-17 % e aE Hi @ F=R G 7

(i) TSR A

(i) TTehret Gofirt ey

(iii)  Srefeptefia defima oy

(iv) YT HEaET & A (Hehet)

(v) <l afa (Twd)

a9 2015-16 H 918 gRT A =1 TR 9 -

() wrEte wiesy Fify o s

(i) YT STEet SR g R oh
Faferean sfiwn < foTw <6 g A

(iii) Tz snfya & fafra ==

(iv) JaHE= TR TEd IS § Jae

aTE h T AR 3T hi AT T |

% 5,50,000
3 13,000

3 23,000
39,000

< 1,00,000

330,000

322,000

% 16,000
% 5,000

For the assessment year 2016-17, Y’s income is given below :

(1)  Business profits

(i)  Short-term capital gain

(ii1)) Long term capital gains

(iv) Dividend from Indian companies (gross)
(v)  Winning from lotteries (gross)

% 5,50,000
3 13,000
3 23,000
3 9,000
% 1,00,000

Payments made by ‘Y’ during the year 2015-2016 were as follows :

(i) Deposit in PPF ¥ 30,000

(1) Medical insurance paid by cheque to G.I.C. of India ¥ 22,000
(i11)) Expenses X 16,000 on medical treatment of disabled dependent

(iv) Paid X 5,000 in P.M. National Relief Fund
Compute taxable income of Y.

et ad 2016-17 % forw “smr” 3 fe foawor weqa fopw | Seht o6t I et <6t TTorn

CAIE

(i) M FEafd & T (AT Y TTE)
(i)  <rerhrena dofira @y

(iii) HET Y& T Al T Sa (Tehed)
(iv) Sfed sar siftrm 1 grae

(v) oS8 A=

(vi) TETE % fEfaa 5
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3,18,000
40,000
50,000

5,000
14,000
65,000
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The following particulars are submitted by R for the assessment year 2016-17.

Calculate his tax liability.

(1) Income from house property (computed)
(i1)) Long-term capital gains

(i11)) Lottery winning from M.P. State (gross)
(iv) Life insurance premium paid

(v) Income from betting

(vi) Notified bonds of NABARD

3
3,18,000
40,000
50,000
5,000
14,000
65,000

26. AT I H T 12% &, O 01 T | L A fershl a2 st garam <ht o Hifw -
() wH H F forg i fosh s & sr=ia fosht afga av 2015-16 & Fo foshi

3 16,62,600

(i) 17-1-2016 I T shal 4 17-8-2015 I 3° T 1,66,260 ! < §C 1A H &

% 33,252 (Ht wg & wigd) w1et =t anfug foham |

(iif) TS <1 Teh =T Shall T 24,990 o AT o o1 B “it” & & |

From the following information, compute the taxable turnover and tax liability when

the State VAT rate is 12% :

(1)  Total sales value including CST applicable against Form C is ¥ 16,62,600 for the

year 2015-16.

(i1)) A buyer of goods to whom goods worth ¥ 1,66,260 were sold on 17-8-2015

returned goods worth ¥ 33,252 (inclusive of CST) on 17-1-2016.

(ii1)) Another buyer of goods could not provide ‘C’ Form for goods worth ¥ 24,990.
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